Example A inference indicators

1.
Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.

2.
Disclosure of information is therefore sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.

3.
Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.

4.
Worsening health or hastening death can therefore be assumed to be contrary to patients’ own true value orderings.

5.
Paternalism is therefore justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.

Take stock of your abilities now.  This task should have been easy for you.  If you missed any of these three inference indicators, study module parts 2.2 and 2.3 and do more exercises there.  If you were tempted to mark “assumed to” as a premise indicator, don’t worry about it.  If you were tempted to mark anything else in this passage as inference indicator (premise or conclusion), re-do parts 2.2 and 2.3 before you proceed.

